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PAPER 1 35 minutes
OBJECTIVE TEST
Answer all the questions on your Objective Test answer sheet

1. Use 2B pencil throughout.

2. On the pre-printed answer sheet. check that the following details are correctly printed:

Your surname followed by your other names, the Subject Name, your Index Number,

Centre Number and the Paper Code.

In the boxes marked Candidate Number, Centre Number and Paper Code, reshade each

of the shaded spaces.

4. An example is given below. This is for a candidate whose name is Winner Seyram
BABANAWO. Her index number is 772384188 and she is writing the examination at
Centre Number 77234. She is offering English Language 1 and the Paper Code is 4510.
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1. Use HB Pencii Press firmly First mark completeiy o
2. Answer each question by choosing one letter and 4. if only four altern a5 are qiven for o
then, shade through the letter chosen like this (;dCh questior, gnare the ‘” = _—
[A] w8 [C] [D] [E] , . .
&. Your guestion paper may have fowe =]
3. If you want to change an answer, ruf out your Questions. .
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Answer all the questions.

Each question is followed by four options Jetiered A to D. Find the correct option for each question
and shade in pencil on your answer sheet the space which bears the same letter as the option you
have chosen. Give only one answer to each question. An example is given below.

From the list of words lettered A 1o D, choose the one that is most nearly opposite in meaning /o
the word underlined in the sentence.

By our constitu.on, it is obligatory to vote.

A. allowed
B. optional
C. nec:s8ary

i righis
The correct answer is optional, which is lettered B and therefore answer space B would be shaded.
[ W— (| I OI— — b —

Be st vou understand the instructions at the beginning of each section before you try lo answer
45, the questions that follow them.Do not spend too much time on a question. If you find a

question difficult. leave it and go on and try it again later.

Use pencil throughout. If you wish to change an answer, erase your first answer completely and

shade the appropriate space for the new answer.

Do all rough work on this guesiion paper.

AT . PR & NS P
Now answer e f0llnving o

PART A

[ EXIS AND STRUCTURE
SECTION A
From the aliorpatives letierea A 1o D, chosse the i whic most suitably completes cach
Senlence.

1. Pach person at horee wrote 10 covvvenen relatives abroad.
A, their .
3. her
. him
. them
2. The people «..eevnrennns aftaid of losing their leader.
A remains
. semaining
. ceain
o ave remained
3. e e was she taught ihe game?
4, 1G5 vuevroissaeanses. 11 SI7€,
5. Samuel ......... in the seat while waiting for his friend.
A. slept off
B. went into comma
C. dozed off
D. went off
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10.

Choose from the alternati

They mentioned ......... not to blame. 11.
A. whom
B. who
C. which
D. that
If Kodzo went to hospital, he ..........
be sick.
A. should 12.
B. has to
C. could
D. must
The thieves accused .......c...... peene of | 13.
revealing their secret to the police.
A. themselves
B. one another
C. each of them 14.
D. the others
Talking to people well is ....... careful.
A. been
B. to being
C. to be
D. being 15.
The man couldn’t do the work .........
a support.
A. with
B. but for
C. without
D. until
SECTIONB

word in each sentence.

16.

17.

18.

The man stopped speaking suddenly.

A. abruptly

B. immediately
C. quickly

D. accurately

Ghana had a sgvere drought in 1983.
A. total

B. hard

C. worrying

D. serious

The function we went to was interesting.
A. ceremony | !

B. role

C. moulding

D. session
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19.

20.

The students understood why they were
punished, ............. ?

A. weren’t they

B. were they

C. did they

D. didn’t they

The students haven’t ........ the pit yet.
A. dig

B. dag

C. dug

D. digged

The message is ...... simple to forget.
A. very

B. too

C. quite

D. )

Not only did Jane come to school ......
she participated in the lessons.

A. than

B. before

C. but

D. but also

The manager .......... his secretary for
her mistakes.

A. punished

B. praised

C. consoled

D. rewarded

ves lettered A to D the one which is nearest in meaning 10 the underlined

The entire school gathered at assembly.
A. few

B. same

C. hole

D. whole

The sad news devastated the public.
A. broke down

B. confused

C. troubled

D. shocked

Turn over
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SECTION C
From the list of words lettered A to D, choose the one that is most nearly opposite in meaning 10 the
word underlined in each sentence.

21.  The man spoke harshly to his brother.
‘ A. excessively 24.  Food ghortage hit some parts of Ghana
B. poorly some time ago.
g- llgll}?}l’ A. surplus
. politely . :
22.  Water ceased flowing through the pipe. 2 n gbu.ndance
: . rationing
A. continued .
B. stopped D. scarcity
IC) ?ﬁiﬁe d 25.  The manager took irreversible decisions.
23. They saw breakages on plates. A. serious
A. successes B permanent
B.  cracks C.  temporary
C. repairs D harsh
D. damage

SECTION D .
In each of the following sentences a group of words has been underlined. Choose from the
alternatives lettered A to D, the one that best explains rhe underlined group of words.

26.  The team’s performance put their supporters on their feet. This means that
A. the supporters cannot sit down.

B. the supporters are so angry.
C. the supporters are so happy.
D. the supporters became alert.
27.  The player put away the penalty kick. This means the player
A. did not score.

B. refused to kick.
C. kicked the ball far away from the goalpost.
D. did score.
28.  The headmaster would rather not crack the whip. This means that
A. the headmaster would not give punishment.
B. the headmaster will give punishment.
C. the headmaster did not give punishment.
D. the headmaster could not give punishment.
29.  The man lowered the bar in his argument. This means that ......
A. the man reduced the height of the pole.

B. the man gave a weak argument.
C. the man gave a strong argument.
D. the man is not honest in his argument.

30.  The prefect’s father clouded his presence at the meeting. This means
A. the prefect dominated his father.
B. the father dominated the prefect.
C. the father frustrated the prefect.
D. the father cause confusion.

END OF PAPER
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